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Chapter: Bangladeshi coins and Notes 
 

Solution of Lecture -3 notes 

 

*** you must show rough 

 

Answer to the question no-1 

8.     5   notes of 20   taka equals to 200 taka.              Rough 

          2 0 0 
          1 0 0 

         = 2   

 

One solution is done for you and rest of solution do it yourselves. 

9. 5 notes 

10.50 notes 

11.10 notes. 

12.10 notes. 

13. 2 notes. 

14. 6 notes. 

15. 10 notes. 

 

Answer to the question no-2 

2.1)  5 paisa + 5 paisa + 5 paisa + 25 paisa +2taka    Rough 

=2 taka 40 paisa.       5× 3 = 15 

15 + 25 = 40 
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 One solution is done for you and rest of solution do it yourselves. 

   2)12 taka 61 paisa. 

    3) 61 taka 25 paisa. 

     4) 102 taka 40 paisa. 

5)100 taka 85 paisa. 

6)300 taka 95 paisa. 

7)110 taka  

8) 110 taka 25 paisa. 

9)270 taka 25 paisa. 

10.710 taka 

11.350 taka. 

 

             ------------- 


